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import sys

sys.path.append("statlib")

from xtest import Box_test

Box_test(x, lag=1, method="Box-Pierce", fitdf=0, verbose=True)
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x = [-0.56, -0.23, 1.559, 0.071, 0.129, 1.715, 0.461, -1.265, -0.687,

-0.446,

1.224, 0.36, 0.401, 0.111, -0.556, 1.787, 0.498, -1.967,



0.701, -0.473, -1.068, -0.218, -1.026, -0.729, -0.625, -1.687,
0.838, 0.153, -1.138, 1.254, 0.426, -0.295, 0.895, 0.878, 0.822,
0.689, 0.554, -0.062, -0.306, -0.38, -0.695, -0.208, -1.265,
2.169, 1.208, -1.123, -0.403, -0.467, 0.78, -0.083, 0.253,
-0.029,

-0.043, 1.369, -0.226, 1.516, -1.549, 0.585, 0.124, 0.216, 0.38,
-0.502, -0.333, -1.019, -1.072, 0.304, 0.448, 0.053, 0.922, 2.05,
-0.491, -2.309, 1.6006, -0.709, -0.688, 1.026, -0.285, -1.221,
0.181, -0.139, 0.006, 0.385, -0.371, 0.644, -0.22, 0.332, 1.097,
0.435, -0.326, 1.149, 0.994, 0.548, 0.239, -0.628, 1.361, -0.6,
2.187, 1.533, -0.236, -1.026]

import sys

sys.path.append("statlib™)

from xtest import Box_test

a = Box_test(x, lag=1) # X-squared = 0.065398, df = 1, p-value =

0.7982

Box-Pierce test

chisq = 0.065398, df =1, p value = 0.79816

b = Box_test(x, lag=1, method="Ljung-Box")

Ljung-Box test

chisq = 0.06738, df =1, p value = 0.79519

c = Box_test(x, lag=3, method="Ljung-Box", fitdf=1)

Ljung-Box test

chisq = 3.7217, df = 2, p value = 0.15554
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statsmodels.stats.diagnostic.acorr_ljungbox()

statsmodels.stats.diagnostic.acorr_1jungbox() (& Ljung-Box HEZ1T I,
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from statsmodels.stats.diagnostic import acorr_ljungbox

acorr_ljungbox(x, lags=5)

(array([0.06738014, 1.38758501, 3.7217333 , 4.66648699, 4.685116791),
array([0.7951902 , 0.49967744, 0.29312205, 0.32326022, 0.45550366]))

acorr_ljungbox(x, lags=[5])

(array([4.68511679]), array([0.45550366]))



d = Box_test(x, lag=5, method="Ljung-Box")

Ljung-Box test
chisq = 4.6851, df =5, p value = 0.45550

boxpierce=True & 9% Z £ C, Box-Pierce MiEDFER BRI L5,

acorr_ljungbox(x, lags=[5], boxpierce=True)

(array([4.68511679]),
array([0.45550366]),
array([4.46009098]),
array([0.48524082]1))

e = Box_test(x, lag=5) # method="Box-Pierce"

Box-Pierce test
chisq = 4.4601, df =5, p value = 0.48524



